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Applications of 3x3 systems



| The sum of three numbers is 12. The first is five times the second and the
sum of the first and the third is 9. find the numbers.

- =17
X+y+Z—1& 3-!-0-1__3/ 05
X = 55 Y Z=${‘

X-I-Z-‘: 0( V5‘3'-&i/

2 )The sum of three numbers is 20. The first humber is the sum of the
second and the third. The third number is three times the first. Find

the numbers )(”'Y“’Z :20 QX =920
)(:@-’rz_) X =10

] 2= ol
2 = 3X \I’"'JO
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Billy’'s Restaurant ordered 200 flowers for Mother’s Day.
They ordered carnations at $1.50 each, roses at $5.75
each, and daisies at $2.60 each. They ordered mostly
carnations, and 20 fewer roses than daisies. The total
order came to $589.50. How many of each type of flower

2
was ordered” C+A-ao*d=aoo

C + + Cl = QDO :
[5C + 575¢ + Qbd = §89.50 C +a4d 20 (
(=d-20 T+ 6,354 ¥

[.5¢+595(d-30) +2.bd = 581.5U —
l.5C+57sd ~ 1S + 9 ba = 58130




20
45& % ",
1BC *+ 8.33d= 704.5

o 3 5 D 80 carna tions
= 50 roses
= | SC 70 daisies
rl

535d = 374.5
d =70
C=30
=50




The Arcadium arcade in Lynchburg, Tennessee uses 3 different colored tokens
for their game machines. For $20 you can purchase any of the following
mixtures of tokens: 14 gold, 20 silver, and 24 bronze; OR, 20 gold, 15 silver,

and 19 bronze; OR, 30 gold, 5 silver, and 13 bronzg¢. What is the monetary
value of each token?

1‘13+c205+;7“’b S0 = 75+|Ds+!31>—-10
goﬁ.HSs £19b=0O [103+155+19b= D

sons G+ [2D=20 [P0 5sTIRTo0
3
© ond @ D.Ni@

p +|5 +Qb= 90D
- g0y +'DS ~ 26p= - 4D fl 135 ~34b = —(sD

+76+|05+’\2b:]_2/7-'—] Q_D ~
f——-""s@ 5= @



39+ 14b =30 4 $us0
=l / +;Jﬁ"' kl'/ﬁ- 90 '
panze. 0

¥ g3g+leb= 30

gold tokens are worth $.50
silver tokens are worth $.35
bronze tokens are worth $.25



Last Tuesday, Regal Cinemas sold a total of 8500 movie tickets. Proceeds
totaled $64,600. Tickets can be bought in one of 3 ways. a matinee admission
costs $5, student admission is $6 all day, and regular admissions are $8.50.
How many of each type of ticket was sold if twice as many student tickets

were sold as matinee tickets?
+ S + f_ — 3§DD
Sm+ 65+ 8:50 = 64,600

S=dm



5800 regular tickets
1800 student tickets
900 matinee tickets



5)3()("\/*‘4?_’5 Ix+z2=2

Yy+3y -2 = D I+ 1022 20
AxX+Z~ 2 2= A-dX
) 3>(_3Ej+- |SZ = /5 Xt lD(&-ZJQ%?D
+ Yx+3y-3z =5 - =
X+ 1Dz=2D =
>) =
(9/31



